ITEM
NO.

QTY.

PART
NUMBER

DESCRIPTION

1

KOOO164

Harness Kit - Add-on Worklight
Lighting

M002390

Bracket - Tank Work Light Mount

—_

MO002775

Bracket - Lighting Harness
Receptacle (Gen ll)

PO00020

Bolt - 1/4-20 x 0.75 x 0.75 Hex (F593
304 S/S FB)

P002053

U-Bolt -3/8"x 1-1/4"x 1-15/16"

P002189

Assembly - LED Work Light
(w/Mounting Bracket)

P002225

Nut - 3/8-16 Flange Nylon Lock
(18-8 S/S FB)

0| N| o~ NN

N | DN IINDN

P002291

Nut - 1/4-20 Flange Nylon Lock
(18-8 S/S FB)

MonT:.
Moniag
DO NOT SCALE DRAWING

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES

TOLERANCES ARE AS FOLLOWS:
FRACTIONAL* 1/32

ANGULAR: * 1

TWO PLACE DECIMAL .03
THREE PLACE DECIMAL +.003

MATERIAL

DRAWN
APPROVED
COMMENTS:

N/A
N/A

FINISH

CONFIDENTIAL:
This drawing and design is proprietary
and confidential to Montag
Manufacturing, Inc.

MONTAG MFG

3816 461st AVE,
Emmetsburg, IA 50536

P: 712-852-4572
F: 712-852-4574
www.montagmfg.com

TITLE:
Kit - Work Light Gen |l
NAME DATE (W/MOUHTS)
SEC 10/27/17
WM 12714117 g17E  PART. NO. REV
A K002145 A
SCALE: 1:4 WEIGHT:7.38 | SHEET 1 OF 1


HTTP://www.montagmfg.com

	Sheet1
	Drawing View1




